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20. a. Evaluate }E‘g(cosx)”x ’
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19. Sketch the Graph of the function fx)=2+ Exzf
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18. Discuss the motion of a particle moves in straight line according to the position
function s(¢) =1 —6¢> +9¢
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17. Sketch the graph of / that satisfies the condition
f(0)=-2 fzy=2
£(0)=0  f'(2) undefined
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15. A closed rectangular box with a square base is to have a volume

20, 000 em® . The material for the bottom of the box will cost 3 S. R. per
and the material for the sides and the top of the box will cost 2 S. R.

per em’ . Find the dimensions that will minimize the cost of the material.
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14. State The Mean Value theorem and verify that the function

f(x)=x" +2x satisfies the hypotheses of The Mean Value theorem on

the interval [-1, 1]. Then find a number ¢ that satisfy its conclusion on
this interval.
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\\’\3‘:‘1\[7 \v\ il . A

|
) \ el &8 B,
B 2T

F’ = ]

J f) F/mgw"

; \ | = cecy tand D
ee—— S___'“"‘—**-—-\___
7 = S ecytan eCSECH iy g o. x

Now See sec x=12l (s gyan _thlm)




6. Use Newton method to estimate V8.01 with Xy = 2 (one iteration )
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4. Find the equation of tangent line to the graph of the equation
xX +2xy - y2 + x =2 at the point (1,2)
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5 Two boats start moving from the same point. One sailing south at 50
mi/h and the other sailing west at 20 mi/h. At what rate is the distance
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2. Show that f(x)=+/4—x" is continuous on the interval [-2, 2]
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